
LED Dock Light series
INSTRUCTION MANUAL
•Thank you for purchasing our product. Please read the below articles carefully to see how to use this product safely.
•Warning contents and attention contents related to product safely use, please be sure to follow it.

Risk of Fire, Electrical Shock, Cuts or other Casualty Hazards-Insta llation and maintenance of this product 
must be performed by a qualified electric ian. This product must be installed in accordance with the applicable
insta llation code by a person familiar with the construction and operation of the product and hazards involved. 

Risk of Fire and Electric Shock-Make certain power is OFF before starting installation or attempting any
maintenance. Disconnect power at fuse or circuit breaker.

Risk of Fire-Minimum 90℃ supply conductors.
Risk of Burn-Disconnect power and allow fixture to cool before handling or servicing.
Risk of Personal Injury-Due to sharp edges, handle with care.

Failure to comply with these instructions may result in death, serious bodily injury and property damage.

1.This product within the input voltage range: 100-277V,50/60Hz.

2.If input voltage exceeds this range, it may cause the lamp failure. Please be sure to operate under correct input voltage.

3.Ensure ambient operating temperature of -35℃-55℃.

4.Using this product in temperatures outside of this range will reduce the product lifespan.

5.Make sure to turn off power before starting the installation process.

6.IP rading of Ip65, can work under damp/wet locations.

7.Please keep the product away from any corrosive subsatance. When you clean it, please use damp or dry cloth.

Product Dimension:

Installation

2、Drill holes in the wall according to 
     the size of wall mounting plate

Bracket A1

Bracket A3

1007mm/39.65"

1507mm/59.33" 900mm/35.43" 650mm/25.59"

600mm/23.62" 450mm/17.72"

Bracket A2 1007mm/39.65" 600mm/23.62" 450mm/17.72"

L1 L2 L3

1)  3 kinds of optional screws types (sale separately)

1、Installation accessories

M10×80 anchor bolts for 
solid wall

M10×80 self tapping 
screws for wooden wall

M10×80 bolts for iron wall

2) 3 kinds of optional wall mounting plates

2.91"
74mm

2.24"
57mm

0.43"
ø11mm

A

3.5"
89mm

7.6"
192mm

0.43"
ø11mm

B

3.54"
90mm

3.42"
87mm

C

Bracket  B1

Bracket  B3 

1067.5mm/42.02"

1567.5mm/61.71" 900mm/35.43" 650mm/25.59"

600mm/23.62" 450mm/17.72"

Bracket  B2 1067.5mm/42.02" 600mm/23.62" 450mm/17.72"

L1 L2 L3

Bracket  C1

Bracket  C3 

1067.5mm/42.02"

1567.5mm/61.71" 900mm/35.43" 650mm/25.59"

600mm/23.62" 450mm/17.72"

Bracket  C2 1067.5mm/42.02" 600mm/23.62" 450mm/17.72"

L1 L2 L3

ø11mm

ø11mm

Bracke B2 Bracke C2
L1

L3

L2

Bracke B1/B3

3、Fix the bracket with screws on the wall

4 pieces M10*80mm bolts
(sale separately)

4 pieces M10*80mm bolts
(sale separately)

4、Install the lamp body on the bracket

Wiring connectors

M8*60 screw

End cap

M8 nylon spacer

M8 nut

er

M8*60 screw

End cap

M8 nylon spac

M8 nut

W

H

φD

20W 30W 50W 60WModel

W

H

177mm/6.97" 237mm/9.33"

157.5mm/6.20"

134mm/5.28"

177mm/6.97"

157.5mm/6.20"

134mm/5.28" 195mm/7.68"

246.4mm/9.70"

237mm/9.33"

195mm/7.68"

246.4mm/9.70"

φ

L1
L3

L2

Bracke A1/A3

Bracke A2
L1

L3

L2

L1

L2

L3

L1

L2

L3

Bracke C1/C3
L1

L2

L3


